DRAWN BY: BILL BERENS

50"

W4x13 AND RAILING POST

END VIEW @

% MODIFY DIMENSION AS REQUIRED FOR PROPER

FIT-UP WITH THE VMS DOOR OPENING.

MATERIAL SPECIFICATIONS

PIPE

ASTM A 36 OR ASTM A 53
GRADE B, TYPEE OR S,
OR ASTM A 500 GRADE B

PLATES AND SHAPES

ASTM A 36

STRUCTURAL TUBING

ASTM A 500 GRADE B

GALVANIZING FOR PIPE
PLATES AND SHAPES

AASHTO M 111

HIGH STRENGTH BOLTS,

NUTS, & WASHERS; INCL.

MOUNTING BEAM BOLTS

STD SPEC. 9-06.5(3)

ALL OTHER BOLTS

STD SPEC. 9-06.5(1)

FASTENER
GALVANIZING AASHTO M 232
STEEL GRATING ASTM A 36

WALKWAY ENTRANCE
(INSIDE OPENING
SWING GATE)

TOP OF TOE PLATE

TOP OF GRATING

W4x13 (TYP.)
t e =°O°m 8
\
\
\
\
\
\
\
N
AN
N
N
N
1, \\
-] STEEL )
P GRATING Z Z I
M SEE DETAIL 4 b
W4x13 (TYP.)
! !
i =1 == ffi
Yy o—a U 0N
L i 1
| |
TOE PLATE ‘ 4' - 0" MAX. (TYP.) |
SEE DETAIL | |
q:_ — W4x13 AND POST — (E
PLAN
MAINTENANCE WALKWAY
SPLICE (TYP.)
(SEE NOTE 4)
| |
R att SR et ) B ‘
O w I I |
Zz| = I
E ; N 2" STD. : W :
o4 T PIPE (TYP.) (TYP.) I '
ol 8 NRAlLlNG) = 4 W2 W2 |
5 F ‘ i ’
o % ! — !
R e
3 = | a
€ 3 o 2'STD. - SPLICE ¢
; E T / PIPE (TYP.)
g . (POST)
- I | |
it i ;
© H |
A 7 0 B
|
oljlo ollo © ﬁ[
| N\,
T 4-0'mMAX (TYP) Wax13
SEE DETAIL "A" . .
I | PROVIDE A 3/4" DIAM. HOLE IN PIPES, AT
G& — W4x13 AND POST — (P_ PIPE CROSSINGS, FOR GALVANIZING.
ELEVATION
MAINTENANCE WALKWAY

NOTES

1. NOT INTENDED FOR USE IN FRONT OF STATIC SIGNS.

2. FOR MOUNTING THE MAINTENANCE WALKWAY TO A MONOTUBE
SIGN BRIDGE, SEE STANDARD PLAN G-95.20.

3. FOR MOUNTING THE MAINTENANCE WALKWAY TO A TRUSS-TYPE
SIGN BRIDGE, SEE STANDARD PLAN G-95.30.

4. LOCATION OF RAILING SPLICES TO BE DETERMINED BY FABRICATOR.
SEE "RAILING SPLICE DETAIL".

,41\17,
INSTALL 2 HINGES W/ .
1/4" S.S. SCREWS SRUZ
(TYP) |
A
i
GATE STOP - ik
(ATTACH TO — \ .
FRAME) i / i
|
h ¥
\ / | \
\% | W4 x 13
2" STD. PIPE TS2x2 x 3/16 !
HAND RAIL (GATE ONLY) !
AND POST !
| (TYP) ‘ |
! | .
| . |
| ! I

. | .
| . |

P TI T T T I T T I IEEEE NN NN NN ) o o

T

} 2. 8"

SEE DETAIL "B"
50"

W4x13 AND RAILING POST

- -1

MAINTENANCE WALKWAY GATE

NOTE: THIS PLAN IS NOT A LEGAL ENGINEERING DOCUMENT
BUT AN ELECTRONIC DUPLICATE. THE ORIGINAL, SIGNED BY
THE ENGINEER AND APPROVED FOR PUBLICATION, IS KEPT ON

FILE AT THE WASHINGTON STATE DEPARTMENT OF TRANS-
PORTATION. A COPY MAY BE OBTAINED UPON REQUEST.

MAINTENANCE WALKWAY
FOR SIGN BRIDGES

STANDARD PLAN G-95.10-01
SHEET 1 OF 3 SHEETS
APPROVED FOR PUBLICATION

Pasco Bakotich Il 06-02-11

STATE DESIGN ENGINEER DATE

VT’ Washington State Department of Transportation




DRAWN BY: BILL BERENS

2" DIAM. STD. PIPE WALL - - 5/8" DIAM. ASTM A 325 H.S. BOLT W/ HEAVY
W4 x 13, PLATE & POST ¢ 3/4" x 4" x 5" PLATE \N HEX NUT AND WASHER, GALV. (TYP.), D
TIGHTEN PER STD SPEC. 6-03.3(33). 1 708"
‘ 1/8 a—
h W4x13 15/8" " 11 5/8"
i / 3/16 W4x13 ! 4 ;
= : N e
< i " =
3 . i i 3/4" PLATE \ w - ‘_\
W% \. | 7 . :ir
& J” \ W4x13 — ~ P— P
- g e e @ ' ; G 2\
o iIRN/E PLATE & POST ,,,,,,,,, [ B
WP = AU M
| |
i T@ u ’ STIFFENER (TYP.) 12 x 4 1/2" x 7 1/4"
* i i i \ ’ 1/4 PLATE
: il ‘ CONNECTION PLATE SECTION
! ‘ ‘ SEE DETAIL
3/8" MAX. 212 | 3" ( ) PLAN
| |
PLAN ¢ HOLES
|
1" | 3/4" ) N
<—~<——“ 3/8" PLATE 5 170"
i % 3/8" PLATE 3/8" PLATE
| — /
! / -/ 174
! m W4x13 " " 1/4
2" DIAM. STD. PIPE 1/2" DIAM. H.S. i 38" ] 38" W4x13
BOLTS (TYP.) @ *'*" = ‘ ‘ ﬁ T 1/2" PLATE
& | |
< . | 2 - AR T -~
< ‘ ‘ ! ‘
@ S : E T T 1/4" LHT L STIFFENER
z - ‘ o L%J L%J %J u 1/4" PLATE (TYP.)
Il ll I 2 e 2 Z B //3/8 CHAMFER
g -I-— - . o 1/2" SNIP .
316 jimi =/ & / I— L (TYP)
3 SIDES (TYP.) : 1 1/2" | z E— STIFFENERS,
3/16 T~ 14" " AN
3/16 14" x 1 1/2
o N 3 SIDES (TYP) > BOTH SIDES —
NNECTION PLATE , —= " " "
(oE T DETAL) i 3172 3172 1/4 CecTioN
34— - L 34
i (TYP) " " @
J L s conlid | 918 3 SuoTTED HoLe ELEVATION
mn "
ELEVATION CONNECTION PLATE DETAIL DETAIL "B
DETAIL "A" e
gkl
A5 -u g
9 85%
§F3Ezz2
§534g
RN
EE
4" 1" MIN. §°E§E§
18" MIN.TO | | . OUTSIDE _ | _ INSIDE 53E53
3/8" MAX. 2" STD. PIPE (RAILING) OF RAIL OF RAIL 20328
3/4" 3R RE =
— S ‘ 2hsus
5/8" 116" PRI s B ‘ Tefs
o<
°3EdEs

116" 3 | S
e - li 3 ? ? i 30°\

= MAINTENANCE WALKWAY
5 e 6 e I s s’ s o S & FOR SIGN BRIDGES
2 i ? \(\O\’?j—D
o I [ _ "
o« 2' DIAM, STO. STANDARD PLAN G-95.10-01
T . &
1/16 " 1" O 1 1/2" DIAM. STD. PIPE SHEET 2 OF 3 SHEETS
(ANSI BstggTE\[()PTEYspc)E4SsPTFE\I|T\JGLEPslg STEEL) J RAILING SPLICE SECTION APPROVED FOR PUBLICATION
-4 DRIVE PINS (SEE DETAIL .
( ’ Pasco Bakotich Il 06-02-11
DRIVE PIN DETAIL ELEVATION SECTION @ STATE DESIGN ENGINEER DATE
Washington State Department of Transportation
RAILING SPLICE DETAIL \/d




DRAWN BY: BILL BERENS

SPAN (DIRECTION OF BEARING BARS)

PANEL SPAN (TYP.)

4" MAX.

N (TYP.)

L o |
|
(ol ]
B

G

1" MAX.

— CLEAR

(TYP))

PANEL WIDTH (TYP.)

3/16" CLEARANCE

—— BETWEEN ENDS

OF CROSS BARS

.

~
GRATING FASTENER / )
(TYP.) SEE DETAIL ° ° — — ° ° —
o] A o] o]
(o) (o] Vi (o] (o]
" G
1/4" TOE PLATE —![=— 3/16" MIN.
3/8" MAX.

CROSS BAR, 1/8" MIN. THICKNESS (TYP.)
BEARING BAR, 3/16" MIN. THICKNESS (TYP.)

W4x13 (TYP.)

PLAN

STEEL GRATING DETAIL
(RAILING NOT SHOWN FOR CLARITY)

1/4" TOE PLATE

_ EVERY FOURTH BEARING
BAR AND NEAR ALL TOE
3/4 \ PLATE CORNERS
z
= GRATING FASTENER
5 SEE DETAIL
CROSS BAR (TYP.)
a . ﬂ
3/16" -3 g

T ' il

o MIN 1" MIN.

3/4" MAX. W4x13 BEARING BAR

SECTION @

4" MIN.

1/4" TOE PLATE

1/8 1-12
GRATING FASTENER
SEE DETAIL
/ CROSS BAR

316"
i

? (

0" MIN.
3/4" MAX.

W4x13

T |
L T 1" MIN.

BARS

SECTION

GRATING FASTENER

CROSS BAR \

BEARING
BARS

=i

INSTALL AND ARRANGE THE
GRATING FASTENERS

ACCORDING TO THE
waiz ] GRATING MANUFACTURER'S
RECOMMENDATIONS.

GRATING FASTENER DETAIL

NOTE: THIS PLAN IS NOT A LEGAL ENGINEERING DOCUMENT

BUT AN ELECTRONIC DUPLICATE. THE ORIGINAL, SIGNED BY
THE ENGINEER AND APPROVED FOR PUBLICATION, IS KEPT ON
FILE AT THE WASHINGTON STATE DEPARTMENT OF TRANS-
PORTATION. A COPY MAY BE OBTAINED UPON REQUEST.

MAINTENANCE WALKWAY
FOR SIGN BRIDGES

STANDARD PLAN G-95.10-01

SHEET 3 OF 3 SHEETS

APPROVED FOR PUBLICATION
Pasco Bakotich Il 06-02-11

STATE DESIGN ENGINEER DATE

'7-’ Washington State Department of Transportation




